
 

  

 

 

VOCATIONAL DIPLOMA IN AUTOMOTIVE 

SERVICE TECHNICIAN EXAMINATION —  

DECEMBER, 2019. 

AUTOMOTIVE ENGINE AND ELECTRICALS 

Time : 3 hours Maximum marks : 75 

PART A — (5  5 = 25 marks) 

Answer any FIVE questions. 

1. Explain the working principles of four stroke SI 
engine. 

 |õßS ìm÷μõU SI CßâÛß ö\¯À£õmkU 

öPõÒøPPøÍ ÂÍUSP. 

2. Explain a unit injector and common rail injection 
system in Diesel fuel injection system. 

 j\À G›ö£õ¸Ò Emö\¾zxuÀ Aø©¨¤À J¸ 

³Ûm CßöáUhº ©ØÖ® ö£õxÁõÚ μ°À 

öuÎ¨£õß •øÓø¯ ÂÍUSP. 

 DIP–132 VDAS–1
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3. Explain the Wet sump lubrication & Dry sump 

lubrication System with neat sketch. 

 Dμ©õÚ \®¨ E¯Ä ©ØÖ® E»º \®¨ E¯Ä •øÓø¯ 

_zu©õP KÂ¯zxhß ÂÍUSP. 

4. Explain the Simple carburettor with neat sketch. 

 GÎ¯ Põº§÷μmhøμ ÷|ºzv¯õÚ £hzxhß ÂÍUSP. 

5. Explain Liquid cooling system of an engine. 

 J¸ C¯¢vμzvß vμÁ SÎ¹mk® •øÓø¯ 

ÂÍUSP. 

6. Explain the classifications of maintenance work. 

 £μõ©›¨¦ £oPÎß ÁøP¨£õkPøÍ ÂÍUSP. 

7. Explain about Intake and Exhaust system with its 

working. 

 EmöPõÒÍÀ ©ØÖ® öÁÎ÷¯ØÓ Aø©¨¦® Auß 

÷Áø» ö\´²® Âuzøu ÂÍUSP. 

8. Explain the characteristic of DC generators. 

 DC öáÚ÷μmhºPÎß ]Ó¨¤¯À¦PøÍ ÂÍUS[PÒ. 
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PART B — (5 × 10 = 50 marks) 

Answer any FIVE questions. 

Q.No. 9 and 10 compulsory. 

9. Choose the correct answer :   (10  1 = 10) 

 (a) Use of Carburettor 

  (i) Starter  

  (ii) Compressor 

  (iii) Rise the piston  

  (iv) Air-fuel mixture 

  Põº£÷μmh›ß £¯ß£õk 

  (i) ìhõºhº 

  (ii) A•UQ 

  (iii) ¤ìhß 

  (iv) PõØÖ G›ö£õ¸Ò P»øÁ 

 (b) Demerit of SI engine compare to CI engine 
has 

  (i) Power  

  (ii) Volumetric Efficiency 

  (iii) Maintenance  

  (iv) Construction 
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  ]I Gg]Ýhß J¨¤k®÷£õx GìI CßâÛß 

SøÓ£õk 

  (i) \Uv 

  (ii) öPõÒÍÄ ÃmkzvÓß 

  (iii) £μõ©›¨¦ 

  (iv) Pmk©õÚ®  

 (c) Exhaust gas release with help of 

  (i) Fuel  

  (ii) Piston 

  (iii) Light  

  (iv) Torque 

  GÔ¢u Áõ²øÁ öÁÎ÷¯ØÓ EuÄÁx   

  (i) G›ö£õ¸Ò 

  (ii) ¤ìhß 

  (iii) JÎ 

  (iv) Torque 

 (d) The unit of Torque is 

  (i) N  

  (ii) kg 

  (iii) N-m 

  (iv) m 
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  Torque Cß A»S 

  (i) N  

  (ii) kg 

  (iii) N-m 

  (iv) m 

 (e) Which one is rise if not available of 
lubrication? 

  (i) Power  

  (ii) Efficiency 

  (iii) Exhaust  

  (iv) Friction 

  E¯Ä QøhUPõÂmhõÀ Gx E¯¸®? 

  (i) £Áº 

  (ii) vÓß 

  (iii) öÁÎ÷¯ØÖ 

  (iv) Eμõ´Ä 

 (f) Coolant pump are of 

  (i) Vane type  

  (ii) Reciprocating type 

  (iii) Centrifugal type  

  (iv) All the above 
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  SÎ¹mk® £®¨ 

  (i) ÷Áß ÁøP  

  (ii) £›©õØÓ ÁøP 

  (iii) ø©¯Â»UP ÁøP 

  (iv) ÷©ØTÔ¯ AøÚzx®  

 (g) A spark ignition engine is 

  (i) gasoline engine  

  (ii) Petrol engine 

  (iii) Diesel engine  

  (iv) None of above 

  J¸ w¨ö£õÔ £ØÓøÁ¨¦ C¯¢vμ® 

  (i) ö£m÷μõ¼¯ C¯¢vμ® 

  (ii) ö£m÷μõÀ C¯¢vμ® 

  (iii) j\À C¯¢vμ® 

  (iv) ÷©÷» GxÄ® CÀø» 

 (h) Mageneto coil ignition is not require 

  (i) Spark  

  (ii) Fuel 

  (iii) Battery  

  (iv) Oil 
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  Põ¢u _¸Ò £ØÓøÁ¨¦ ÷uøÁ°Àø» 

  (i) w¨ö£õÔ  

  (ii) G›ö£õ¸Ò 

  (iii) ÷£mh› 

  (iv) Gsön´ 

 (i) This is one of the communication system 

  (i) Starter motor  

  (ii) Gears 

  (iii) Generator  

  (iv) Horn 

  Cx uPÁÀ öuõhº¦ Aø©¨¤À JßÓõS® 

  (i) ìhõºhº ÷©õmhõº  

  (ii) Q¯º 

  (iii) öáÚ÷μmhº 

  (iv) \zu® 

 (j) Diesel cycle also known as 

  (i) Constant pressure  

  (ii) Constant Volume 

  (iii) Constant temperature  

  (iv) Variable pressure 
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  j\À _ÇØ] GßÖ® AøÇUP¨£kQÓx 

  (i) {ø»¯õÚ AÊzu®  

  (ii) {ø»¯õÚ öuõSv 

  (iii) {ø»¯õÚ öÁ¨£{ø» 

  (iv) ©õÖ£k® AÊzu®  

10. State True or False :    (10  1 = 10) 

 (a) Gasoline is acceptable as a parts cleaning 
solvent. 

£õP[PøÍ  _zu®  ö\´²® Pøμ¨£õÚõP 

ö£m÷μõÀ HØÖU öPõÒÍzuUPx. 

 (b) The burnt gas will release only in the 
exhaust stoke. 

G›¢u Áõ² öÁÎ÷¯ØÓ ì÷hõUQÀ ©mk÷© 

öÁÎ¯õS®. 

 (c) Carburettor doesn’t have float. 

  Põº£÷μmh›À ªuøÁ CÀø». 

 (d) The main purpose of lubrication is reduction 
the friction. 

  Eμõ´Âß •UQ¯ ÷|õUP® Eμõ´øÁU 

SøÓ¨£uõS®. 

 (e) Dynamometer helps to increase the emission. 

EªÌøÁ AvP›UP øhÚ÷©õ«mhº EuÄQÓx.  
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 (f) Crank is a balancing unit 

   Crank J¸ \©{ø»¨£kzx® A»S. 

 (g) Cam shaft helps to guide the valves. 

  ÁõÀÄPøÍ ÁÈ|hzu Cam usk EuÄQÓx. 

 (h) Air bleed jet is one of the venture system. 

  Venture Aø©¨¤À PõØÖ bleed jet J¸ 

£õP©õS®. 

 (i) The radiator core is made of brass. 

  ÷μi÷¯mhº _ØÖ P®¤ ¤zuøÍPÍõÀ BÚx. 

 (j) An alternator develops only on alternate 
current. 

  BÀhº÷Úmhº Gß£x BÀm÷Úm Pμsøh 

EØ£zv ö\´QÓx. 

11. Write down the detailed working principles of Otto 
and Diesel cycles. 

 Km÷hõ ©ØÖ® j\À _ÇØ]PÎß Â›ÁõÚ 

ö\¯À£õmkU öPõÒøPPøÍ GÊxP. 

12. Explain the importance of Diesel Engine 
Governors. 

 j\À Gßâß PÁºÚºPÎß •UQ¯zxÁzøu  

ÂÍUSP. 
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13. Explain fully about supercharging and 
turbocharging system. 

 `¨£º \õºâ[ ©ØÖ® hº÷£õ\õºâ[ Aø©¨¦ £ØÔ 

•Êø©¯õP ÂÍUSP. 

14. Explain the working principle of forced circulation 
and pressurized cooling system. 

 Pmhõ¯ _ÇØ] ©ØÖ® AÊzu¨£mh SÎ¹mk® 

•øÓ°ß ö\¯À£õmkU öPõÒøPø¯ ÂÍUSP.  

15. Classify different types of Batteries and explain 
any one. 

 £À÷ÁÖ ÁøP¯õÚ ÷£mh›PøÍ ÁøP¨£kzv, 

JßøÓ ÂÍUSP. 

16. Explain the electronic fuel injection system with 
neat sketch. 

 ªßÚq G›ö£õ¸Ò Emö\¾zxuÀ •øÓø¯ 

÷|ºzv¯õÚ £hzxhß ÂÍUSP. 

——————— 



 

  

 

 

VOCATIONAL DIPLOMA IN AUTOMOTIVE 
SERVICES TECHNICIAN – DECEMBER, 2019. 

First Year 

AUTOMOTIVE CHASSIS 

Time : 3 hours Maximum  marks : 75 

PART A — (5  5 = 25 marks) 

Answer any FIVE questions. 

1. Explain Davi’s steering mechanism. 

 ÷hÂ°ß vø\©õØÔ ö£õÔ•øÓø¯ ÂÍUSP. 

2. Explain types of main frame. 

 •UQ¯ \mhzvß ÁøPPøÍ ÂÍUSP. 

3. Explain Anti Lock Braking system. 

 Bßi »õU ¤÷μUQ[ ]ìhzøu ÂÍUSP. 

4. Classify different types of suspension springs and 
explain any one. 

 £À÷ÁÖ ÁøP¯õÚ Cøh}UP }¹ØÖPÒ ©ØÖ® 

HuõÁx JßøÓ ÁøP¨£kzxP. 

 DIP – 133 VDAS–2
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5. Explain the construction of hydraulic braking 
system. 

 øímμõ¼U ¤÷μUQ[ Aø©¨¤ß Pmk©õÚzøu 

ÂÍUSP. 

6. Explain the varies maintenance of air conditioning 
in compressor, condenser and evaporator. 

 Hº PsiåÚ›À A•UQ, ªß÷uUQ ©ØÖ® 

BÂ¯õUQ BQ¯ÁØÔß £μõ©›¨ø£ £ØÔ ÂÍUSP. 

7. Write the comparison between tube tyre and 
tubeless tyre. 

 i³¨ h¯º ©ØÖ® i³¨ö»ì h¯º Cøh÷¯ J¸ 

J¨¥k u¸P. 

8. Explain types of chassis layout. 

 ÷\ì uÍÁø©¨¦ ÁøPPøÍ ÂÍUSP. 

PART B — (5  10 = 50 marks) 

Answer any FIVE questions 

Q.No. 9 and 10 Compulsory 

9. Choose the best answer L  (10  1 = 10) 

(a) Which of the following is not a part of the 
transmission system 

  (i) Clutch 

  (ii) Axles 

  (iii) Wheels 

  (iv) Gear box 
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  ¤ßÁ¸ÁÚÁØÔÀ Gx £›©õØÓ Aø©¨¤ß 

£Sv¯õP CÀø»? 

  (i) QÍma 

  (ii) Aa_UPøÍ 

  (iii) \UPμ[PÒ 

  (iv) Q¯º ö£mi 

 (b) An automobile chassis does not include 
which one of the following parts 

  (i) Shock absorber 

  (ii) Steering system 

  (iii) Differential 

  (iv) Breaks 

  Bm÷hõö©õø£À ÷\êÀ ¤ßÁ¸® £SvPÎÀ 

Gx CÀø»? 

  (i) Avºa] EÔg] 

  (ii) vø\©õØÔ Aø©¨¦ 

  (iii) Differential 

  (iv) ¤÷μUì 
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 (c) What is actual power delivered by the engine 
known as? 

  (i) Shaft power 

  (ii) Horse power 

  (iii) Break power 

  (iv) None of the above 

  C¯¢vμzuõÀ ÁÇ[P¨£k® Esø©¯õÚ \Uv 

Gx?  

  (i) usk \Uv 

  (ii) Svøμ \Uv 

  (iii) ö\¯À£õmk \Uv 

  (iv) ÷©ØTÔ¯ GxÄ® CÀø» 

 (d) Which one the following is not one in the 
clutch assemble assembly 

  (i) Thrust spring 

  (ii) Eyebolt 

  (iii) Strut 

  (iv) Shaft 



 

 DIP – 133 5

  QÍõma assembly JßÔÀ ¤ßÁ¸ÁÚÁØÔÀ 

Gx CÀø»?  

  (i) E¢xuÀ ì¤›[ 

  (ii) Pß&-÷£õÀm 

  (iii) ìmμm 

  (iv) usk 

 (e) Increase of torque in a vehicle is obtained by 

  (i) decreasing speed 

  (ii) increasing power 

  (iii) decreasing pedal consumption 

  (iv) all the above 

  J¸ ÁõPÚzvÀ •ÖUS Âø\ AvP›¨£uß 

‰»® Cx ö£Ó¨£kQÓx  

  (i) ÷ÁP® SøÓuÀ 

  (ii) AvP›US® \Uv 

  (iii) ªv ~PºÄ SøÓuÀ 

  (iv) ÷©÷» EÒÍ AøÚzx® 
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(f) Leaf spring absorb shocks by 

  (i) bending 

  (ii) Twisting 

  (iii) Compression 

  (iv) Tension 

  Leaf spring Avºa]PøÍ Cuß ‰»® 

EÔg]Âk® 

  (i) ÁøÍÄ 

  (ii) Twisting 

  (iii) A•UP 

  (iv) Tension 

 (g) Shackles are sort of 

  (i) Coupling 

  (ii) Link 

  (iii) Spring 

  (iv) None of above 

  Shackles J¸ ÁøP¯õÚ  

  (i) Coupling 

  (ii) Cøn¨¦ 

  (iii) Spring 

  (iv) ÷©÷» GxÄ® CÀø» 
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 (h) Transfer case is located next to gear box 

  (i) Front wheel drive 

  (ii) Rear wheel drive 

  (iii) Four wheel drive 

  (iv) All above 

  Q¯º ö£miUS AkzuuõP Aø©¢xÒÍ 

£›©õØÓ ÁÇUS  

  (i) •ß \UPμ C¯UQ 

  (ii) ¤ß¦Ó \UPμ C¯UQ 

  (iii) |õßS \UPμ C¯UQ 

  (iv) ÷©÷» EÒÍ AøÚzx® 

 (i) The torque tube is a tubular member which 
enclose 

(i) Propeller shaft 

  (ii) Half shaft 

  (iii) Differential 

  (iv) Axle 

  •ÖUS SÇõ´ Gß£x J¸ tubular member 
CuÝhß CønÁx 

  (i) ¦÷μõ¨£À»º usk 

  (ii) Aøμusk 

  (iii) Differential 

  (iv) BU]À 
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 (j) A force applied in foot pedal through the 
rotating clutch will lead to 

  (i) Roller bearing 

  (ii) Crank shaft 

  (iii) Thrust ball bearing 

  (iv) Pressure plate 

  _Ç¾® QÍma ÁÈ¯õP PõÀ ªv «x 

£¯ß£kzu¨£k® J¸ \Uv ÷©÷»õ[SÁx 

  (i) ÷μõ»º uõ[Q 

  (ii) Crank shaft 

  (iii) Thrust ball bearing 

  (iv) AÊzu® umk 

10. Fill in the blanks :    (10  1 = 10) 

 (a) ________ plate is one of the clutch component 

 QÍma TÖPÎÀ –––––––––– umk JßÓõS® 

 (b) ________ type of clutch is suitable for heavy 
duty vehicles 

  PÚμP ÁõPÚ[PÐUS –––––––––– ÁøP QÍma 

ö£õ¸zu©õÚx 

 (c) Cam is one the parts of ________ break 
systems 

  CAM Gß£x –––––––––– ÷ÁPuøh 

Aø©¨¤ß J¸ £Sv¯õS® 
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 (d) Disc break is working based on ________ 
pressure technology 

  Ámh ÷ÁPzuøh –––––––––– AÊzu® öuõÈÀ 

~m£zvÀ ö\¯À£kQÓx  

 (e) Shock absorber will reduce the ––––––––– 

  Avºa] EÔg] ––––––––––IU SøÓUS® 

 (f) Central position of a propeller shaft is made 
from a ––––––––– 

  J¸ ¦÷μõ¨£À»º usk ø©¯ {ø»  
––––––––– Cv¼¸¢x u¯õ›UP¨£kQÓx 

 (g) The transmission system transmits ________ 
from the engine to wheel. 

  iμõßìªåß ]ìh® ––––––––––I 

CßâÛ¼¸¢x \UPμzvØS PhzxQÓx 

 (h) The brake servo is a device for increasing the 
pressure of the driver’s foot on the_______ 
pedal. 

  ¤÷μU \º÷Áõ Gß£x –––––––––– ªv Cx 

Kmk|›ß £õu ªv°ß AÊzuzøu 

AvP›¨£uØPõÚ J¸ \õuÚ©õS®. 

 (i) Differential gear assembly have ________ 
number of gears inside 

  ÷ÁÖ£mh Q¯º Aø©¨¦ EÒÍ –––––––––– 

GsPÎÀ Q¯ºPÒ EÒÍÚ. 
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 (j) A spiral bevel gear is a bevel gear with 
________ teeth. 

  J¸ _ÇÀ ö£ÁÀ Q¯º Gß£x –––––––––– 

£ØPøÍU öPõsh J¸ ö£ÁÀ Q¯º Aø©¨¦ 

BS® 

11. Explain the construction and working principles of 
Universal join? 

³ÛöÁº\À áõ°ßm Cß Pmk©õÚ ©ØÖ® 

ö\¯À£õmkU öPõÒøPø¯ ÂÍUSP. 

12. Explain details about differential unit with neat 
sketch. 

 Differential Unit I £hzxhß ÂÍUSP? 

13. Explain the power assisted braking system. 

 £Áº A]ìhm ¤÷μUQ[ ]ìhzøu ÂÍUSP? 

14. Explain working and applications of Worm, Worm 
wheel and Bevel Gear. 

 Worm, Worm wheel ©ØÖ® Bevel Gear ÷Áø» 

ö\´²® Âuzøu ÂÍUSP. 
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15. Classify different types of steering gear boxes 

 öÁÆ÷ÁÖ ÁøP¯õÚ ìj¯›[ Q¯º ö£miPøÍ 

ÁøP¨£kzxP? 

16. Explain about Hydro-Elastic suspension spring 
system. 

 øím÷μõ–«Ò \ìö£ßåß ì¤›[ ]ìh® £ØÔ 

ÂÍUSP. 

––––––––––––– 



 

  

 

 

VOCATIONAL DIPLOMA IN AUTOMATIVE 
SERVICES TECHNICIAN EXAMINATION –   

DECEMBER, 2019. 

AUTOMOTIVE ELECTRONICS  

Time : 3 hours Maximum  marks : 75 

PART A — (5  5 = 25 marks)  

Answer any FIVE question. 

1. Write short notes on crank Position sensor. 

 Uμõ[U ö£õ]åß ö\ß\õº I £ØÔ ]Ö SÔ¨¦ GÊxP. 

2. Explain the voice warning system in brief. 

 SμÀ Ga\›UøP •øÓø¯ _¸UP©õP ÂÍUSP. 

3. Explain Keyless Entry System. 

 \õÂ CÀ»õ ~øÇÄ •øÓø¯ ÂÍUSP. 

4. Explain Additional Lighting System. 

 TkuÀ ÂÍUS Aø©¨ø£ ÂÍUSP. 

5. Explain Accelerometer Sensor System. 

 •kUP©õÛ ö\ß\õº Aø©¨ø£ ÂÍUSP. 

 DIP–134 VDAS–3
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6. Explain Electronic Regulators. 

 ªßÚq Pmk¨£õmk Aø©¨¦PøÍ ÂÍUSP. 

7. Write  a short note on  Travel Information System. 

 ]Ö SÔ¨¦ : £¯n uPÁÀ •øÓ. 

8. What are the Electronics Parts used in the Latest 
Battery Vehicle?  

 GßöÚßÚ ªßÚq £õP[PÒ ªßP» ÁõPÚ 

Fºv°À £¯ß£kzu¨ £kQÓx? 

PART B — (5  10 = 50 marks)  

Answer any Five question. 

Questions 9 and 10 are compulsory. 

9. Choose the best answer :    (10  1 = 10) 

 (a) Which one is active component? 

  (i) Capacitor 

  (ii) Transistor 

  (iii) Inductor 

  (iv) Resistor 

  Gx BØÓÀªUP Aø©¨¦    

  (i) ªß÷uUQ 

  (ii) iμõß]ìhº 

  (iii) ªßyshÀ 

  (iv) ªßuøh 
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 (b) The induction coil steps up low voltage 
current of 6 or 12 volts to high voltage 
current upto about 

  (i)  10,000 volts   

  (ii)  17,000 volts 

  (iii)  25,000 volts   

  (iv)  35,000 volts  

  yshÀ _¸® 6 AÀ»x 12 ÷ÁõÀm SøÓ¢u 

ªßÚÊzu  ªß÷Úõmhzøu E¯º ªßÚÊzuzvØS 

E¯ºzxQÓx  

  (i) 10,000 ÷ÁõÀm 

  (ii) 17,000 ÷ÁõÀm 

  (iii) 25,000 ÷ÁõÀm 

  (iv) 35,000 ÷ÁõÀm 

 (c) Form factor 

  (i) RMS/Average  

  (ii) Average/RMS 

  (iii) RMS/Peak  

  (iv) Peak/RMS  
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  £iÁ® Põμo Gß£x 

  (i) RMS/Average  

  (ii) Average/RMS 

  (iii) RMS/Peak  

  (iv) Peak/RMS 

 (d) The electrical system of an automobile 
contains which of the following 

  (i) Battery 

  (ii) Alternators 

  (iii) Lighting system 

  (iv) All the above 

  J¸ Bm÷hõö©õø£¼ß ªß Aø©¨¦ 

¤ßÁ¸ÁÚÁØÔÀ Gx EÒÍx 

  (i) ÷£mh› 

  (ii) ªß©õØÔPÒ 

  (iii) ÂÍUS Aø©¨¦ 

  (iv) ÷©ØTÔ¯ AøÚzx® 
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 (e) The central portion of the wheel is called 

  (i) Rim  

  (ii) Scale 

  (iii) Hub  

  (iv) Axle  

   \UPμzvß ø©¯¨ £Sv GßÖ AøÇUP¨£kQÓx 

  (i) ›® 

  (ii) ì÷PÀ 

  (iii) ø©¯zøu 

  (iv) Aa_ 

 (f) Magneto ignition system gets current from 

  (i) Battery  

  (ii) Magnet 

  (iii) Fuel  

  (iv) Dynamo  

  Põ¢u £ØÓøÁ¨¦ Aø©¨¦ ªß÷Úõmhzøu 

Cv¼¸¢x ö£ÖQÓx 

  (i) ÷£mh› 

  (ii) Põ¢u® 

  (iii) E›ö£õ¸Ò 

  (iv) øhÚ÷©õ 
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 (g) Keyless entry system has work by use of 

  (i) Audio  

  (ii) Radio frequency 

  (iii) X-ray  

  (iv) Sound waves  

  Rö»ì Gßm› ]ìh® £¯ß£kzxÁuß ‰»® 

÷Áø» ö\´QÓx 

  (i) Bi÷¯õ 

  (ii) ÁõöÚõ¼ AvºöÁs 

  (iii) GUì÷μ 

  (iv) J¼ Aø»PÒ 

 (h) Airborne device work based on 

  (i) Key less entry  

  (ii)  Voice warning system 

  (iii) Seat belt system  

  (iv) Anti-theft system  

  Airborne \õuÚ® Cuß Ai¨£øh°À ÷Áø» 

ö\´QÓx  

  (i) \õÂ CÀ»õ ~øÇÄ 

  (ii) SμÀ Ga\›UøP Aø©¨¦ 

  (iii) ^m ö£Àm Aø©¨¦ 

  (iv) v¸mk Gvº¨¦ Aø©¨¦ 
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 (i) This device will find velocity and direction of 
the fluid 

  (i) Proximity sensor  

  (ii) Crank position sensor 

  (iii) Light sensor  

  (iv) Hot wire anemometer  

  C¢u \õuÚ® vμÁzvß vø\÷ÁPzøu²® 

vø\ø¯²® Psk¤iUS® 

  (i) ¨μõUêªmi ö\ß\õº 

  (ii) Qμõ[U ö£õ]åß ö\ß\õº 

  (iii) JÎ ö\ß\õº 

  (iv) `hõÚ P®¤ AÜ÷©õ«mhº 

 (j) Electronic power steering system parts 

  (i) Rack and pinion  

  (ii) Steering parts 

  (iii)  Wheel  

  (iv) Control module  

  ªßÚq \Uv vø\©õØÔ Aø©¨¦ £õP[PÒ 

  (i) ÷μU ©ØÖ® ¤Û¯ß 

  (ii) ìj¯›[ £õP[PÒ  

  (iii) \UPμ®  

  (iv) Pmk¨£õmk öuõSv 
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10. Fill in the blanks :    (10  1 = 10)  

 (a) In higher temperature the tungsten halide 
get decompose of tungsten and Discuss about 
the ––––––––––. 

  AvP öÁ¨£{ø»°À h[ìhß íø»k BÚx 

h[ìhß BPÄ® ©ØÖ® –––––––––––– 

BPÄ® ]øuÁøhQÓx. 

 (b) Moisture and –––––––––– does not deposited 
in sealed beam head lamp. 

  Dμ¨£u® ©ØÖ® –––––––––––– ^À ö\´¯¨£mh 

¥® uø» ÂÍUQÀ øÁUP¨£kÁvÀø». 

 (c) Dazzling effect has avoided by use of  
–––––––––– switch ––––––––––. 

  –––––––––––– _Âmø\¨ £¯ß£kzxÁuß 

‰»® vøP¨§mk® ÂøÍÄ uÂºUP¨£mhx. 

 (d) –––––––––– coil will get while pressing the 
Horn switch. 

  íõºß _Âmø\ AÊzx®÷£õx _¸ÐUS  

–––––––––––– QøhUS®. 

 (e) –––––––––– switch will help to select a light 
beam. 

  –––––––––––– _Âma J¸ JÎ PØøÓ 

÷uº¢öukUP EuÄ®. 



 

 DIP–134 9

 (f) Friction pad has applied to disc through  
–––––––––– spring. 

  Friction pad BÚx –––––––––––– spring 
‰»® disc I AÊzxQÓx. 

 (g) When brakes are applied on a moving vehicle 
the kinetic energy is converted to –––––––––. 

  |P¸® ÁõPÚzvÀ ¤÷μUSPÒ £¯ß£kzu¨£k® 

÷£õx C¯UP BØÓÀ –––––––––––– BP 

©õØÓ¨£kQÓx. 

 (h) –––––––––– ply types gives low rolling 
resistance. 

  –––––––––––– ¤øÍ ÁøPPÒ SøÓ¢u 

E¸mhÀ Gvº¨ø£U öPõkUS®. 

 (i) –––––––––– system which help to extract 
right quantity of fuel at right time.   

  \›¯õÚ ÷|μzvÀ \›¯õÚ AÍÄ G›ö£õ¸øÍ 

öuÎUP –––––––––––– Aø©¨¦ EuÄ®. 

 (j) –––––––––– Sensor will helps to know the 
proportion of oxygen in the gas. 

  –––––––––––– ö\ß\õº Áõ²ÂÀ BUêáÛß 

ÂQuzøu AÔ¯ EuÄ®. 
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11. Explain Multi Point Injection System (MPFI) with 
neat sketch. 

 ©Ài £õ°sm Cßöáñß ]ìhzøu (MPFI) 
_zu©õÚ ìöPma ‰»® ÂÍUSP. 

12. Describe fully about Anti-Lock Braking system. 

 Bßi–»õU ¤÷μUQ[ ]ìh® £ØÔ •Êø©¯õP 

ÂÁ›UPÄ®. 

13. Explain Hot Wire Anemometer Sensor. 

 `hõÚ P®¤ AÜ÷©õ«mhº ö\ß\õº ÂÍUSP. 

14. Explain the road navigation system and  
Anti-Theft System with neat sketch? 

 \õø» ÁÈö\¾zuÀ Aø©¨¦ ©ØÖ® v¸mk Gvº¨¦ 

Aø©¨¦ BQ¯ÁØøÓ ÷|ºzv¯õÚ £hzxhß 

ÂÍUSP. 

15. Explain Electronic Fuel Injection System. 

 ªßÚq G›ö£õ¸Ò öuÎ¨£õÚ •øÓø¯ ÂÍUSP. 

16. Classify Automatic Transmission System. 

 uõÛ¯[Q £›©õØÓ •øÓø¯ ÁøP¨£kzxP. 

 ––––––––––––– 

 




